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E (REEEXIE) 104,935,000 % 1/2 (BEE)= 52, 467, 500 E (REREXIE) 104,527,000 x1/2 (EHE)= 52, 263, 500
&t 52,467,500 52,467 FH &t 52,263,500 52,263 FM -204 +H
B (IRIRFRERRE) 121,422,000 x 3/4 (&183) = 91, 066, 500 B (RIRFRERRE) 121,393,000 x 3/4 (&18%K) = 91, 044, 750
(RIEEZHE) 104,935,000 x 1/4 (B4EEE) = 26, 233, 750 (REEEXIR) 104,527,000 1/4 (E1E3K)= 26,131, 750
it 117, 300,250 117,300 F+HM &t 117,176,500 117,176 +H -124 +H
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E R E ((RERTERRD) 121, 422, 000 EBRTE (RIZHER) 121,393, 000 * -29
EBLE (REREXE 104, 935, 000 EBRTE RIZEXIER) 104, 527, 000 * -408
EHEF 73,567, 000 EHEF 73,567, 000 0
HEFR-FE 19, 600, 000 HEBR-KE 19, 600, 000 0
MHREEXE 9, 109, 000 MR EEXE 9, 288,000 * 179
Z D 3, 000, 000 Z D 32,376, 000 % 29, 376

it 331,633,000 331,633 +H &t 360, 751,000 360, 751 F+H | 29,118 +H




